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This paper contains 70 questions.
Before starting the paper ensure that all questions are in proper sequence.

Blank papers, clipboards, log tables, calculators, mobiles or any electronic device are not allowed.
Before starting the paper, fillup the required details in the blank spaces provided on the OMR sheet.
Do not forget to mention your roll number neatly and clearly in the OMR sheet.
No rough sheets will be provided by the invigilator.

No query related to question paper of any type is to be made to the invigilator.
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You are not allowed to leave the examination hall before the end of the exam.
. EachQuestion carries 4marks. For each correct response, the students will get 4 marks.
Incase of incorrect response, 1 mark will be deducted.

—_
o



T Toed a fRrmfor
sftgfema it agddr ot wedy oft s

Tecno'24 A HIT A 3T gRT CLC TR STATE TTE fGTH 31R AE o [T 31U e=idig |

Tecno W&t H FfFferd 1T IdTdT & fob 314 374 HiTS &Y eiehR ST 3R 3cdTfEd &1 “ 51 ges
Hfdsg & feie HUA ST 8 3R ST PBaH 3771 Sa 31T AR Ted B3N B 37 HUAl & AT B BT 8..af
31T Hf5TeT Y 1= Y 30 eHT e BTt hrlTe |~

Tecno AT ddal ATt FfGHT & TRat BT eit 33T S Ffcds MUY W &t A8aT qifed a6t
ufdargar ot 73t f&orm Ht S 31a Aeret € 31R 31Mudb HiaR 31madht BeT 3{R UfaHT &b HTEdH 4 37947 37R 3104
GRER BT ATH R B AT HHTS T I DI 371 of 5714 bl 3cho 5287 2Afth Hi 81 EH [Hed A WeAT B & fdb
Ayfauraca sHl pR o el

CLC7Tq 29 st & faenfaiay 3R s1fiTerds! & faT 3iR A8 § 3HdRd 39 J B BT 81 EART I
36T JET e & T BHRT U ep ferarmeff site # Hhet &Y. 377 90¢... 31k CLC H 38 1 o Wi Hiar 2. ar Fafudt
35 db BTH 3TC | BHRT YA faenelf sita # o, (81,670 3R Aed &1 3IJFRUT PR | Jet I8 BRUTE 51 HcdTud
TRAT & {3 - “CLC STET Tthetal & TUA T 81 &, TEBR & T2 3R Tet BROT & 13 gX-a1sT & e, 7T,
BT 3R STI0TAT dcb &b 37THHTeTeh fRIEHT, HEPR, G 3R Ahetd &l oTd 3Td & CLC BTATH Ad &

o faenfera | 5 uterr o1 YT UfaHms B detTeld aRIRAT ® | 89 &S ITdf & I1ef &g Tebd & fb
CLC 3 I3 b &3 2R, B, 71Td, S10ft b faenferal # Afepet 31k NS Fl uftend “aerae[ prfa” el
e B fRienT-Rt o1 Raare faetman & 3R 3t wrgof HRa & faemeff 3iat & sfaeR o I1Tian 577 &1 T
UTe &3 T & A1 HiehR bt 3R e FIGT e & | EART YRR YATH EdT & fob el faremeff &b fasma R rT
IR 3BT YU fdbr BIATTSC|

31T Tecno YT&T quf IHRAT Td AT & €| g TRlel 3TUd HidR 3TcATdUTE &1 §aR Bl 30
f5ieY H 3799 GEUTfSaT qoT 57T, ERATO, UsiTel, 3TRYGRl, Heawa?l, feaei! 3R 5TA] BHR & Hi 31 aHper

faenferat & sftar smudht aegfeifa faffa dot..
TP IR YA:TAHHT &b 3550l HidS bl HITeTehTHAT3I & H12 |
39t 379+t - CLC

Cash Prize Starts of Tecnho'23

S0, uunf-r
DV,
- g 20

O —

LT



1.

3.

*
.

MATHEMATICS (Q.1 TO Q.25)

H.C.F. of (X3 -3x+ 2)and (x2 —4x+ 3)is:

(1) x—-1)

(2) (x-2)°

() x-1)x+2)

@) x-1)x-3)

In a problem involving division, the divisor is eight

Tecno’'24
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times the quotient and four times the remainder.
If the remainder be 12, then the dividend is :

(1) 400

(2) 342

(3) 300

(4) 450

The G.C.D of (2002, k) is 4, then the value of k is :
(1) All even values

(2) 4 only

(3) All odd values

(4) For all values of k, it is not possible

Factors of x° + x> +x + 1 :
(1) (x + 1)(x* - 1)

(2) (x - 1>+ 1)

(3) (x- ix* - 1)

4) x+ )+ 1)

Class: X

2410
MATHEMATICS (Q.1 TO Q.25)

(x° - 3x +2) AT (x2 — 4x + 3) PTH. . 1. &

(1) x-1)

(2) (x-2)*

B) (x-1)x+2)

4) x-1)x-3)

TS 3 ST FARATH, WIS W B 3773 A1 3R ATHel
H1 AR AT I © | A THA 12 8, T AT BRT—

Paper Code |

(1) 400
(2) 342

(3) 300

(4) 450

(2002, k) BTHAA. (G.C.D.) 4 &, T9 k BT HH ET—
(1) I FH A

(2) DI 4

(3) I+ faws A9

(4) k & T 79 & forg Fwa =181

B+ x+ 1D IOEEE T

(1) x+ 1)x*-1)

(2) (x-1)x*+ 1)

(B) x—- 1)x*-1)

(4) (x + 1)(x* + 1)

Y% &1 & forg 5178/ Space For Rough Work
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If x =22+ \/7, then the value of %(X +—j is
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X
(1) 242 -7
2) J7
(3) 242
@) V2 +7
If X% + 2x = 45, then the value of x* + 4x° + 4x° - 13
(1)2013
(2) 1986

(3)2012
(4) 32

If the system of the equation has no solution then | 7.

find the value of k.

2x + ky = 7 and 2kx + 3ky = 20.

(1) 1

(2)6

(3) 3

@) 7

The pair of equations 3 = 81, 81¥Y =3 has :
(1) No solution

1 1
2) x=2—,y=2—
(2) 5y

2
B)x=2,y=2
1 7
4)x=2—,y=1=
4) x g V=13

Class : X
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X

aﬁrx=2ﬁ+x/7,a—e[%(x+lj &1 91 ENTI—

(1) 22 -7
(2) V7

(3) 2v2

4) V2 +7

Ifex? + 2x = 453, qaxt+4x3 +4x? - 13 HTEA -

(1) 2013

(2) 1986

(3) 2012

(4) 32

IfE FHBROT BT BT DTS T 781 &, Td k BT A =1 DIfoTY |
2x + ky = 7 d1 2kx + 3ky = 20

(1) 1
(2) 6

(3)3

4) 7

THHRN BT s 3¥7Y = 81, 81%Y = 3\
(1) BIE & TSI

1 1
2) x=2—,y=2—
(2) >y

2
B)x=2,y=2
1 7
4)x=2—,y=1=
4) x g V=13

Y% &1 B fory 57T/ Space For Rough Work
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9. If4a-18b+ 13c=0and 3a+ 3b—-4c =0, then the | 9. 1Cl'f%{4a—18b+130=O«"I21T3a+3b—4c=0,\"l’erCﬂTjCITH
ratioa : b: c will be : a:b:cERT—
(1)3:6:5 (1)3:6:5
(2)5:3:6 (2)5:3:6
(3)3:5:6 (3)3:5:6
45:6:3 45:6:3
10. Match the column : 10. Wﬁwﬁﬂﬁ?ﬁm—
Column I Column II wWH I wWH II
(A) 2x + 5y = 10 (i) Unique solution (A) 2x + 5y = 10 (i) efghasd
3x+4y="7 3x+4y =7
B) 2x + 5y =10 (ii) Infinitely many solution (B) 2x + 5y = 10 (ii) 3Fd &
6x + 15y= 20 6x + 15y= 20
(C)5x + 2y =10 (iii) No solution (C)5x + 2y =10 (iii) DTS &1 7TE1
10x + 4y =20 10x + 4y =20
(1) A-i, B-ii, C-iii (1) A-i, B-ii, C-iii
(2) A-ii, B-iii, C-i (2) A-ii, B-iii, C-i
(3) A-i, B-iii, C-ii (3) A-i, B-iii, C-ii
(4) A-iii, B-i, C-ii (4) A-iii, B-i, C-ii
11. Which of the following equations has imaginary | 11. ﬁﬁ%@ﬁﬁﬁﬁﬂqwiﬁﬂﬂwﬁ?ﬁiﬁﬁl
roots.
(1) x2 -4x+2=0 (1) x2 -4x+2=0
(2) 3x2 +2x-1=0 (2) 3x2 +2x-1=0
B) x?-4x+2=0 B) x? -4x+2=0
4 x2+x+1=0 4 x2+x+1=0

Y% @1 P fory T8/ Space For Rough Work
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The values of x which satisfying the equation

+X_3=31:x¢2,4,is
x -4 3
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x-1
x-2

=
w
N w

(2) 5,

(3) 7,

(4) 9,

N[O NN N

The values of k for which the equation
x? — 4x + k = 0 has distinct real root is :

(k<4

2 k>4

B) k=4

(4) k is undefined

The quadratic equation whose roots are twice the
roots of 2x°> - 5x + 2 = 0 is :

(1) 8x*-10x+2=0

(2) x*-5x+4=0

(3)2x>-5x+2=0

4)x*-10x+6=0

Class : X
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12. x &1 I ol FHHRT

x-3
+
x -4

x-1
x-2

=3%:x¢2, 4 , PV I AT, TM—

=
w
N w

(2) 5,

(3) 7,

(4) 9,

N[O NN N o

13.
2, BRT—
(1) k<4
2) k>4
B) k=4
(4) k aRIRTTE 2
14.
UG
(1) 8%°-10x+2=0
(2)x*-5x+4=0
(3)2x>-5x+2=0
4)x*-10x+6=0

k &7 oreas forg wiiamvT x% — 4x + k = 0 faff=1 gar v

ferama T forre Jol @HIax 2x% — 5x + 2 = 0 B AT B

Y% &1 B fory 57T/ Space For Rough Work
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15. The sum of terms equidistant from the beginning

16.

17.

*
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and end in an arithematic progression is equal to:
(1) Last term

(2) First term

(3) Sum of the first and the last term

(4) Sum of terms

If S, =nP+ %n(n— 1)Q; where S, denotes the

sum of the first n terms of an arithematic
progression, then the common difference of the
arithematic progression is :

(1)P+Q

(2) 2P + 3Q

(3)2Q

4)Q

For an arithematic progression, S, = 3S_. The

value of San is equal to:

(1) 4
(2)6
(3)8
(4) 10

Class: X

15.

16.

17.
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T TR 07 H 37RH 3R 3T | A §X a7l Ul &1 AT
TRTER BI B—

(1) sifvug

(2) 92 UG

(3) Y e 3ifcH ug & AT

(4) g&T & IR

] Paper Code

If S, =nP +%n(n—1)Q;G|€iSnWWiﬂ?9§ﬁ£Eﬁuw
n U&I & ART P10 HRar B, Td FHIOR AfS B AraiaR rm—

(HP+Q
(2) 2P+ 3Q
(3)2Q
#Q

e FHR S & forg S, = 3S

n’

Ssﬁ T I SRTER BI—

n

(1) 4
(2)6
3)8
(4) 10

Y% @1 P fory T8/ Space For Rough Work
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18.

19.

. | CLC Paper Code
;% Tecno’'24 l Class : X ] 5410
If the roots of the equation x°> - 12x? + 39x - 28 =0 | 18. IR FMHI x> - 12x* + 39x — 28 = 0 & ol FHIR Afg H
are in arithematic progression, then their common g, 9 39D ATaioR g—
difference is :
(1) +1 (2) +2 (1) £1 (2) £2
(3) £3 (4) +4 (3) 3 (4) +4
In figure [||m, then ZABC will be : 19. I H || m, 99 ZABC &FT—
m l m l
A’ / c, 4 c
A/ 432 " A/ 452 "
B B
(1) 45° (2) 30° (1) 45° (2) 30°
(3) 35° (4) 125° (3) 35° (4) 125°

SIKAR
N

Y% &1 B [y 5178/ Space For Rough Work
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20. In the given figure, if EC || AB, ZECD = 70° and | 20. f&y 71v fa31 #, afg EC || AB, ZECD = 70° 2
/BDO = 20°, then find ZOBD. /BDO =20°, @@ £OBD ITd &Y |
E A E A
70° 70°
B B
(1) 20° (2) 50° (1) 20° (2) 50°
(3) 60° (4) 70° (3) 60° (4) 70°
21. In the given figure lines p and q are parallel. Find | 21. Uy f2r # Y@M p TU1 q FHGR & | x BT A 1A DI,
value of x so that lines 1 and m be parallel. e forg Y@ 1 9o m FHiaR gif—
/ l / l
X5 d x5 d
p p
q q
Xis5 X5
3 N 3 N
m m
(1) 45° (2) 100° (1) 45° (2) 100°
(3) 135° (4) 60° (3) 135° (4) 60°

Y% &1 B [y 5178/ Space For Rough Work
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22. Match the column I to column II for the value of x.
Column II

Column I

|

B D
(B) 1 Edx 1
60° 45°
A C
A R B
55°
(€) x°(<0o
25
C - D

(1) A-i, B-ii, C-iii, D-iv
(2) A—ii, B-i, C—iv, D-iii
(3) A—ii, B-iv, C—i, D-iii
(4) A-iv, Biii, Cii, D

(ii) 110°

(iii) 45°

(iv) 280°

Class : X

2410
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22. x &AM & o1y TH 1 B & 11 FHferd HIFTY |

ESEC

w9 II

B D
(B) 1 Edx 1
60° 45°
A C
A R B
55°
(€) x°(<0o
25
C - D

(1) A, B-ii, C-iii, D-iv
(2) Aii, B~i, C-iv, D—iii
(3) A-ii, B-iv, C-i, D—iii
(4) A-iv, Bii, Ci, D

(i) 110°

(iii) 45°

(iv) 280°

8
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23. In the figure Z/B = ZC = 55° and ZD = 25°. Then 23. A" /B = 2C=55°71 /D = 25°, Ta—

m m
B < D B < D

(1) BC < CA < CD (2) BC > CA < CD (1) BC < CA < CD (2) BC > CA < CD
(3)BC<CA,CA>CD  (4)BC > CA, CA>CD (3)BC<CA,CA>CD  (4)BC > CA, CA>CD

24. If a right triangle has sides of length 1 and /2, | 24. e gd FHST Y &1 gy 1 Ten 2 g, Fr=rfafRea i &
which of the following could be the length of the DI Y HSfl D TS T Fhell &2

remaining side ?

cLC [

(I 1 (1) V2 01 (1) V2
(1) V3 () V3
(1) only I (2) only II (1) daa 1 (2) DI I
(3) only III (4) I and III only (3) Baat 111 (4) dadt I qe 111
25. It is given that AABC = AFDE and AB = 5 cm, | 25. f&a1 a1 & f AABC = AFDE 21 AB = 5 9],
/B =40° and ZA = 80°. Then which of the following /B = 40° @1 ZA = 80°. T4 fr=iferRad # 9 o= a1 ffdea
is definitely true ? FAA I E?
(1) DF = 5 cm, £F = 60° (1) DF = 5 %1, ZF = 60°
(2) DF = 5 cm, ZE = 60° (2) DF = 5 941, ZE = 60°
(3) DE = 5 cm, ZE = 60° (3) DE = 5 91, ZE = 60°
(4) DE =5 cm, 2D = 60° (4) DE = 591, 2D = 60°

Y &I P fory T8/ Space For Rough Work
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REASONING (Q.26 TO Q.40) REASONING (Q.26 TO Q.40)

26. Put the following orders in a meaningful order : | 26. =faRad wrea] o Tl v H IR :

Tecno’'24
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A. thread B. cotton A. g1 B. ®U¥
C. clay D. cloth C. e D. oyl
E.rag F. plant E. Rrerel F. 9y
(1)C,B,A,D,F,E (1)C,B,A,D,F,E
(2)C,F,B,A,D,E (2)C,F,B,A,D,E
(3)B,F,C,AE,D (3)B,F,C,AE,D
4)A,B,C,F,E,D 4)A,B,C,F,E,D

27. Put the following orders in a meaningful order : 27. frafaRad ol o ared sa A Ray .
A. Opening the Text Book. A. W—W@?ﬁ[
B. Attending Prayer Meeting. B. T H ) SURerd g
C. Catch the bus C. 9 Yl
D. Wearing the uniform D. WW
E. Arriving in Classroom E. P& uga
(1)D,B,C,E, A (1)D,B,C,E, A
(2)D,C,E,A,B (2)D,C,E,A,B
(3)D,C,B,E, A (3)D,C,B,E, A
4)D,C,AE,B 4)D,C,AE,B

28. Put the following orders in a meaningful order : | 28. f=faRad wrea] o1 ATl o H IRT :
A. Ocean B. Rain A. HETHIR B. auf
C. Clouds D. River C. diadt D. T
E. Monsoon E. AT
(1)C,B,AE,D (1)C,B,AE,D
(2)E,C,B,D,A (2)E,C,B,D,A
(3)A,C,B,E,D (3)A,C,B,E,D
4 E,B,C,D,A 4)E,B,C,D,A

Y &I P fory T8/ Space For Rough Work
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Boys and girls are sitting in a row in the audience
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in front of a stage facing north. Rani is 5 to the
left of Sunita, Sunita who is 8" to the right of
Nishant. How many children are there between
Rani and Nishant ?

(1)1

(2) 2

(3) 4

(4) None of these

If in a row of 35 children M is 15 from the right
end the there are 10 children between M and R,
then what is the position of R form the left end of
the row ?

(1) 15T

(2) 51

(3) 30™

(4) Data insufficient

Amit's age is equal to Sumit's age as they are
twins. Richa is younger than Sumit. Richa is
younger than Jayotsna but older than Saurabh.
Sumit is younger than Jyotsna. Tell me who is
the tallest among them ?

(1) Amit

(2) Jyotsna

(3) Richa

(4) Saurabh

Class: X
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30.

31.

2410

T A, T 48 SR e &1 31R 8, & A Sieh] 4 b Ufdd
H 1D 3R I 96 2 | TN, A b A a1 541 8, e <
e e @1 841 2 | I 3R e & = fdan =i 3 2

] Paper Code

(1)1

(2) 2

(3) 4

(4) TTHABIS TE

Ife 35 g Bl Ufdd H M &IV RR W 15 d < U= g 721 M @1
R & 411 10 921 &, A1 Ufdd § R &1 918 RR A -1 & 2

(1) 15d1

(2) 54

(3) 304

(4) T St

31 1 31g G B 317g B SRTER &, i J Fea1 & | R,
FRaA eI 2 | Re, AT A BIA L, Afra aRI A a1 2 |
FAd, ST A BIST ¢ | I8 Iy fob §7H e qei diA & ?

(1) arfaa
(2) A
(3) R

(4) HIRH

Y% &1 & forg 5178/ Space For Rough Work

1
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Six persons M, N, O, P, Q and R are sitting in two
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rows with three persons per row. Q is not at the
end of any of the lines. P sits second to the left of
R. O is the neighbour of Q and diagonally opposite
to P. N is the neighbour of R. Based on the above
information, who is opposite to N ?

()R

(2)Q

3)P

4)M

Some friends are sitting in an octagonal position
in one of the corners. All are facing towards the
middle Mahima is sitting diagonally in front of
Ram. Ram is sitting to the right of Sushma. Ravi
is sitting next to Sushma and opposite to Girdhar.
Girdhar is sitting to the left of Chandra. Savitri is
not on the right side of Mahima, but in front of
Shalini. Who is sitting to the right of Shalini ?

Class : X

32.

33.

2410

B fdd M, N, O, P, Q T2 R o< &fad ufd ufe & srgaR &1
U A 938 | Q frfi Al ufdi & SR H 761 & | P, RP AIS 3R
TRVFERE |0, Q FTUSRA 3R P& Raviaq =@ 2 | N,
R &1 USRI & | SIRIET G2l & AR R N &S ARG DI & ?

] Paper Code

()R

(2)Q

3) P

4) M

T (AT ITSHT I TR Th—Udh B H 93 B | 41 o1 7 i
B13R & | AfAT fORe foRe U 3 M & 9191 931 2 | M, oAl
@ TS TR 912 | I, GIH B a7 H 3R FReR & A 931 2 |
fReR, T & 912 3R Ia1 2 | |ifa, wfee & < Re L g,
et et & AT € | Mfefil & TS IR HIF 901 8 ?

(1) Ravi (1) =fa
(2) Mahima (2) Afean
(3) Girdhar (3) fReR
(4) Ram (4=
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34.

35.

36.
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Six students A, B, C, D, E and F are sitting in the
field. A and B are from Nehru House while the rest
belong to Gandhi House. D and F are tall while the
others are short. A, C and D are wearing glasses

Tecno’'24
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while the others are not.
Which two students, who are not wearing glasses,
are short ?
(1) Aand F
(2)Cand E
(3)BandE
(4)Eand F
In the following question, select the related word
from the given alternatives.
AZBY : ZAYB : CXDW : ?
(1) AYBZ
(2) EVFU
(3) BUAZ
(4) XCWD
My brother is 562 days older then me. Where as
my sister is 75 weeks and 3 days older than him.
If my sister was born on Tuesday, then on which
date was I born ?
(1) Sunday
(2) Wednesday
(3) Monday
(4) Tuesday

Class: X

Paper Code
2410

34. BBHA,B,C,D, EdF A A332 | AR B g% 8o

3 T A9 Tl B W' | D 3R F ofH 8 | STafds 390 BT
I 2 A, C3IR D F¥H1 Ug- gU & Wafeh 3 77a |

I S BT, Sl TeH S Ug &, BIC 8 ?

(1) AT F
(2) C@AE
(3) BTNE
(4) EQeNF

. FrefeRad wee 4 fag 7y famed] 9 & wafdd e &1 g

AZBY : ZAYB : CXDW : ?
(1) AYBZ

(2) EVFU

(3) BUAZ

(4) XCWD

. IRTHTS 9319 562 A g81 2 | Safeh ¥ 981 I9d 75 e 3R

3 e a8 2 |9k 3 981 FTelaR 1 YT g2 B A w1 or fon
IR P g3l ?

(1) Jfaar
(2) ggaR
(3) AR
(4) AR
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37.

38.

39.

*
*

If 10® March 2001 is Saturday then what will be
the day on 10™ March 2010 ?

(1) Monday

(2) Wednesday

(3) Thursday

(4) Saturday

Find the missing number in the following matrix
?

Talent Exploring CLC
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2 12 ?
50 300 350
10 60 110
124 744 | 1364

(1) 222

(3) 333

(3) 444

(4) 555

It's 3 o'clock on my watch at the moment. If the
hour hand is facing east, then on which will the
minute hand be ?

Class : X

37.

38.

39.

2410
109/ 2001 DIAFMAR BTN 10 A1 2010 B D=1 IR 8T

?

] Paper Code

(1) AraR

(2) ggar

(3) THaR

(4) IFER

frferRad srTeg # o e Sid BTy ?

2 12 ?

50 300 350
10 60 110
124 744 1364

(1) 222

(3) 333

(3) 444

(4) 555

RS AT 3 IO L | IR TSP S Gd 3R B, Arfdee
P! gs fpasiR e ?

(1) North (1) SR
(2) South (2) gferor
(3) West (3) uRerm
(4) None 4) PIg L
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In question bellow are given statements followed
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by conclusions. You have take given statements
to be true even if they seem to be at variance with
commonly known facts. Read the conclusions
logically follows from the given statements

disregarding commonly known facts. Give answer.

Statements : Some birds are goats.
Some goats are horses.
Some horses are liones.
Some lion are tiger.

Conclusions: 1. Some tigers are goats.

II. No tiger is goat.
III. Some lions are birds.
IV. No lion is bird.
(1) Only either I or II follow.
(2) Only either III or IV follow.
(3) Only either I or II and either III or IV follow.
(4) Only I and III follow.

Class: X

2410

] Paper Code

40. fFfRad que H B T SH a1 fspy QU U & | 31!

U U1 BT TG T R, Wol &1 d Ad=id aeai 3 fa=1 udid
B 1 T T BHITY b g 10 fFAeap s & 5 SF—a1 debeiid wu

W SRRV BRI &, Hel & HASA 720 B W1 8l —
BT : G U TR 2 |
B ITHRAAST |
FoaSRiE e |
3o RigarE e |
froy : I. BB IETHRAE |
II. PrEadIH L6 |
1. {o g wEn g |
IV. o5 RIBwRN e ¢ |
(1) DIt AT A1 37 11 SRV B § |
(2) Daet AT AN I ATV TR HRA L |

(3) Dact AT AT 1 AT 11 3R A1 A 111 A7 IV SERVI HRA E |
(4) DI 3R 111 TRV B L |
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41.

42.

43.

" . |CLC ,

4 Tecno'24 Class : X
PHYSICS (Q.41 TO Q.50)

Image formed by the convex mirror is always : 41.

(1) Erect

(2) Virtual

(3) Diminished

(4) All of these

An object is placed at 10 cm from a convex mirror
of focal length 20 cm. The position of image will be

(1) 3.33 cm, behind the mirror.

(2) 3.33 cm, in front of the mirror.

(3) 6.67 cm, in front of the mirror.

(4) 6.67 cm, behind the mirror

A rod of length 5 cm lies along the principal axis of
the concave mirror of focal length 15 cm in such a
way that the end of the rod which is closer to the
pole is 30 cm away from it. Then the length of
image is :

(1) 2.75 cm

(2) 3.75 cm

(3)4.75 cm

(4) S cm

42.

43.

2410

I U1 §IRT a1 wfcifar sem I g

(1) e

(2) 3Tt

(3) BT

(4) SuRTeRT |/

T % 20 T BIH¥ G dTe] I GUVT & ATHT 10 1 Bl
R R T | vfafer &1 Rerfd grfi —

] Paper Code

(1) 3.33 91, g & Y

(2) 3.33 |, U & HHA

(3) 6.67 JH, TUU & AT

(4) 6.67 JH, U S 4

5 I TS DI TP B 15 A B d g3 dTel 37adel SU al
R 3181 o a9l 59 TR Rerd 2 fob ga & e o1 RRTI|
30 91 g B a1 ufafews ol o gl —

(1) 2.75 ¥
(2) 3.75 &t
(3) 4.75 &+
(4) 5
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44. For total internal reflection, which of the following | 44.

45.

46.
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is correct ?

(1) light travels form rarer to denser medium.

(2) light travels from denser to rarer medium.

(3) light travels in air only.

(4) light travels in water only.

Two thin lenses of power +5D and -2D are placed
in contact with each other. Focal length of the
combination is :

(1) +3 m

(2) -3 m

(3) +0.33 m

(4) -0.33 m

When the object is at distance u; and u, from a
lens, real and virtual image are formed
respectively having the same magnification. The
focal length of the lens is :

(1) ug + u?g
)
@ =5
u; + Uy
@ 5=

(4u; +uy

Class: X

45.

46.

2410
ol SficiRep ORI e fory, FPReferiRa & -l 9el & ?

] Paper Code l

(1) vrpTeT faRel & e HIeqH H Y51 HRaAT |

(2) BT FE H1eH ¥ faRe H1ewH | A PRATE |

(3) UHTY Hae arY H & T PRATS |

(4) TBTA BHIA ST H 21 THT HRaAT L |

+5D TAT-2D & & &l Uaiel oI b TER & A H I §Y
B | 9 IO Y DI ol g —

(1) +3 HIex

(2) =3 #Hiex

(3) +0.33 Hrex

(4) -0.33 i}

9 DTS 9% o 1, T u, G IR BN & T 91 19 &
12T S AR T AT TSI 7] &, &I bl Bl g8
2

Uy

(]_) u; + 5

)

@ 5>

185} + Uy
2

(4u; +uy

)
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48.

49.
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Select the correct sequence of light entering the
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different parts of human eye :

(1) cornea, lens, iris, pupil, retina

(2) pupil, cornea, iris, lens, retina

(3) cornea, pupil, iris, lens, retina

(4) cornea, iris, pupil, lens, retina

Sheela cannot read newspaper when she holds it
closer than 100 cm. The defect in her eye and the
power of lens prescribed to her is :

[eye's near point = 25 cm)]

(1) myopia with 2D lens

(2) myopia with -3D lens

(3) hpermetropia with +2D lens

(4) hypermetropia with +3D lens

If 4 joule work is required to be done in stretching
a spring by 4 cm, then spring constant of the spring
is :

(1) 5 x 10°N/m (2) 2 x 10> N/m

(3) 5 x 10* N/cm (4) 2 x 10° N/cm

A bomb of mass 9 kg, initially at rest, explodes into
two pieces of 3 kg and 6 kg. If the kinetic energy of
3 kg mass is 216 J, then velocity of 6 kg mass will
be :

Class : X

47.

48.

49.

50.

2410

A1 31T & fAf=~ 911 | Y1 B dTel UhT & Hel hH Bl
I PR—

(1) ifTar, <iw, SR, gaell, e

(2) gerell, i, SR, o, e

(3) i1, yefetl, AR, of, fe

(4) Dif, SR, gaell, o, X

et SRIER FTE] Ug Aahall oTd 98 I 100 HH! & 1% AoTdId
TG | S 3119 H S0 3R 9aa e FuiRe o s erar g

] Paper Code

[3ifE &1 e fag = 25 ¥ )

(1) 2D o & 9191 fae gfie g

(2) -3D of¥ & w12 fide gfic a

(3) +2D < & W T gfte g

(4) +3D o9 & I R gfte qIY

Tf U R BT 4 T T Giee H 4 S BRI BT gl & al
e o R ReRia &

(1) 5 x 10° =ge=1/#rex (2) 2 x 103 =ge-1/Hrex
(3) 5 x 103 =[e+T/#ex (4) 2 x 103 =ge1/Hex
9 fHau™ sHE &1 UH 99, ol fb R 4 farm A %, 3
fherT 2N 6 fratiam & &1 el 3 the ST © | I 3 fvatmm
S DI I Srolt 216 Sl 8, T 6 fn e a1 e 8

(1) 4 m/s (2) 3m/s (1) 4 IR/ HHvS (2) 3 Hiex /AHTE
(3)2m/s (4)6m/s (3) 2 Wi/ HEHTE (4) 6 Hiex /@S
¥% @13 @ fory 5r71g / Space For Rough Work
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51.

52.

53.

54.

CHEMISTRY (Q.51 TO Q.60)

Neutron discovered by :
(1) Rutherford

(2) N. Bohr

(3) E. Goldstein

(4) J. Chedwik
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€ .
— for electron is :
m

(1) 1.75 x 108Cb/gm

(2) 9.58 x 10* Cb/gm

(3) Zero

(4) Can't be calculated

From a container having 64 gm oxygen 11.2 L
oxygen gas at S.T.P and 6.022 x 10% oxygen atoms
are removed. Find the mass of oxygen gas left.

(1) Zero

(2) 32 gm

(3) 16 gm

(4) None

Find the value of a, b and c in following balanced
chemical equation :

aFe + bH,0 — Fe;0, + cH,

(1)4,4,3

(2)3,4,4

(3)3,4,3

“4)3,3,3

Class: X

51.

52.

53.

54.

Paper Code
2410
CHEMISTRY (Q.51 TO Q.60)
NEEEIRCINAGRE LR
(1) TERBIS
(2) e dR
(3) 3. MeeeH
@) S Trefa®
Toag B % PTHAE —

(1) 1.75 x 10® qair /714

(2) 9.58 x 10* G /7™

3) 3

(4) SITa TS DR Hebel

el T H 64 T Sifaiior 1/ 8 | afd 3¥HH 11.2 L sifwiio
T B S.T.P IR T 6.022 x 107 ga19] siferiior gt fad
SR A1 TS H SRS 3199 BT WIR SITd Bl —

(1)

(2) 32 74

(3) 16 T4

(4) IS T

Hferd AT THIBRYT H a, b TAT ¢ BT A1+ S HRI —

aFe + bH,0 —> Fe;0, + cH,
(1) 4, 4,3
(2)3,4,4
(3)3,4,3
“43,3,3
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57.
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Which one of the following process involve
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chemical reactions ?

(1) Storing of oxygen gas under pressure in a gas
cylinder.

(2) Liquefaction Of Air.

(3) Keeping petrol in a china dish in the open.

(4) Heating copper wire in presence of Air at high
temperature.

Which of the following statements about the given

reaction are correct ?

Fe, 05 + 3CO — 2Fe + 3CO,
Fe,O, is getting reduced.
CO is getting oxidised

o we>

Fe,O; is act as reducing agent
D. Fe is getting reduced

(1)A&D

(2)B&C

(3)A&B

4)C&D

The formula of the salt used in purification of water
among the following is :

(1) K,S0,. Al,(SO,),. 6H,0

(2) K,S0,.A1,(SO,4);5. 24H,0

(3) KC1. MgCl, .6H,0

(4) FeSO,. (NH,),S0,.6H,0

Class : X

2410

] Paper Code

55. S99 P19 v H H IR srfafhar afafera g ?

56.

57.

(1) O, I DI RfelveR H T

(2) aTg BT EdIHROT
(3) Ugta &l fareil e & urst # T
(4) I=9 AU R BIUR S TR DI arg Bl SURITA H T BT

78 afAfharet & ol I poH g ?

Fe,0, + 3CO —> 2Fe + 3CO,
Fe,O, &1 AT 88T 2 |

CO 1 3RITPRUIEI BT 2 |

Fe, 0, 3AT=TIe ! Al BRI PR BT |

D. Fe &I AUz I @I 2 |

(1) AT D

(2) Bar C

(3) AT B

(4) CdATD

DITH G BT GF e B YfGHIUH BIH AL :

o we>

(1) K,S0,. Aly(SO,),. 6H,0
(2) K,S0,,.Al,(SO,),. 24H,0
(3) KC1. MgCl, .6H,0

(4) FeSO,. (NH,),S0,.6H,0
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Sodium hydrogen carbonate when added to acetic
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acid evolves a gas. Which of the following
statements are true about the gas evolved ?

A. It turns limewater milky.

B. It extinguishes a burning flame.

C. It dissolves in a solution of sodium hydroxide.
D. It has a pungent odour.

(1)A,B&C

(2)B,C&D

(3)A&D

4)A&B

Correct set of four qunatum numbers for the
valance electrons of potasium are :
(1)n=4,(=0,m=0,s="%
2n=4,(=1,m=0,s=%
B)n=4,(=1,m=1,s="%
4n=4,(=2,m=0,s=%

The triend of nuclei that is isotonic :
IR
2) L2c, ¥'N, ¥F
G)g'c, 7N,

@) g*c, ¥*N, PF

Class: X
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2410

58. WIfeyH gIgSIo drai-e H VHIfed 3 fierd 2, @ Uah 4

59.

60.

e 2 1S9 9 & U P P I 8 ?

A FAH U DI R IR T |

B. SaerTefie Sarel ®1 g S 2 |

C. TRARTATTS IS & AT H gA TN © |
D. M e |

(1)A, BaerC

(2) B, C@1D

(3) AT D

(4)ATTB

I fITH & FATSN DI & Soide = & (oY qarveH FReal &l
GRECES

(1)n=4,(=0,m=0,s="%
@2n=4,/=1,m=0,s=%
B)n=4,l=1,m=1,s="%
Hn=4,(=2,m=0,s=%

DI BT DA P TAYSID B -

(1) *c,

150 17
7N, oF
12~ 14
(2) 7“C, 7'N,

) s*c,

P

lay 17
7N, o F

(4) 164C’ 14N, 19F
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61.

62.

63.

*
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BIOLOGY (Q.61 TO Q.70)

Pulmonary vein carries :
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(1) Impure blood always

(2) Pure blood always

(3) Impure blood sometimes

(4) Mixed blood

Which is the correct sequence of the air passage

in man ?

(1) Nasal cavity -» Pharynx — Larynx — Trachea
— Bronchi — Bronchioles — Alveoli sac

(2) Nasal cavity - Pharynx — Trachea — Larynx
— Bronchi — Bronchioles — Alveoli

(3) Nasal cavity —» Larynx — Bronchi —» Pharynx
— Trachea — Bronchioles — Alveoli

(4) Nasal cavity —» Larynx — Pharynx — Trachea

— Bronchi — Bronchioles — Alveoli

Which one of the following statements are wrong

?

a. Leucocytes disintegrate in spleen and liver.

b. RBC, WBC and blood platelets are produced by
bone marrow.

c. Neutrophiles bring about destruction and
detoxification of toxins of protein origin.

d. Important function of lymphocytes is to produce
antibodies.

(1) aand b only (2) aand d only

(3) a and c only (4) b and d only

Class : X
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Paper Code
2410
BEGAT RRIA ST € :
(1) THE3TYF HRR
(2) BT Yg BER
(3) HHI—bH! 37YE BIAR
(4) e sl
BT ¥ AL H TG A BT FE T ?

(1) TERET — YE — DS — Tl
— TGFA] - TTADT - AT DI
(2) THRET — YE — TGl — DS
— T —> TATDT — ArG R[]
(3) THFET — 63 — TIAT — TF!
— A TG — AR U]
(4) FATRAET — BV — TG — TETell
— T —> TaATTDT — ArG R[]

ferforRad o P11 T U T 8 2

a. TIHINIET el 3R I 3 fafed B 2 |

b. RBC, WBC G211 %R faw] &1 iRemsa & gRT ST
BT |

c. LIfthdl MIEH Ig+a & fatrel ugteif o fammer ofk famrfaa
PRANT |

d. formrarged o1 we@yul dri uftRet &1 ST HA1 ¢ |

(2) dacta qATd
(4) Db aaTd

(1) adadAb
(3) dacta TATc
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A plant bend towards the source of light when
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exposed to the light on only one side. Which of the

following is the best explanation of the

phenomena?

(1) It needs light for photosynthesis

(2) The apices of their stems are attracted by light

(3) Some auxin accumulates on the shaded side
to induce greater cell elongation on that side

(4) Light stimulates the cells on the illuminated
side to increase in length

Choose the right option from the following :

a. In light, hormone auxin helps the cells to grow

longer in plants.

b. Plant hormone gibberellin help in growth of a

stem.

c. Cytokinin inhibits cell division

d. Abscisic acid promote growth in plants.

(1) aand b (2)bandd

(3)aandc (4)aandd

Genetic material (DNA) in plants occur in which

of the following cell organelles ?

(1) Nucleus

(2) Nucleus and chloroplast

(3) Nucleus, chloroplast and mitochondria

(4) Chloroplast and mitochondria

Class: X
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U U1 59 Had] Th TR H YHTI & T¥D H T IR ThT B
I D1 AR el 2, Fr=1fetRad | S 59 Tl &1 9a9
BT PR ?

] Paper Code

(1) TPTIRIZATY] & fTQ 3 UHT B MIRIBAT A 8 |

(2) % T & RIER yaTe A BT L |

(3) To S BRIIfard W U= ST91 81 ST § Sl 39 dR%
e HI gig DIURABRATE |

(4) VDTS TS g D foTq HehTfRId WIT a1 DIfrapiai ol Sifora
PRATE |

=1 9 9 92 fAded &1 g9 HIfg

a. TGHTe H Sffaae gt dieli # DIfHRI o oFars g™

GG HRATT |

b. UGy g Rerfem, a9 @l afg # Aeraar arar g |

c. WTSCIBIS HIfRIDT [T Pl AP & |

d. vfeafid aret uredi # gfg B IRA BT 2 |

(1) adenb (2) baard

(3)yadeaic 4)adard

uTel H AT ugtel (DNA) fFrferRad 3 & fava diflrei
HURT A1 B ?

(1) d=d

(2) Db TAT IR TIRT

(3) D=, FARTEE AT HISC DIl

(4) FARTATIE T AIGCIDI =gl
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Which one of the following is wrongly matched ? | 67.
(1) Fungi — Chitin

(2) Phospholipid — Plasma membrane

(3) Enzyme — Lipopolysaccharide

(4) ATP — Nucleotide derivative

The "Power House" of cell :

(1) Is bound by a single membrane

(2) Posses cristae which are extension of its outer
membrane

(3) Are sites of formation of "energy currency” of
the cell

(4) Is found in eukaryotic and prokaryotic cells

Which one of the following is not a true cell ?

(1) Monocytes

(2) Eosinophils

(3) Neutrophils

(4) Platelets

Root hairs develop from :

(1) Exodermis

(2) Exodermal cells

(3) Cortex

(4) Epidermal cells

68.

69.

70.

Paper Code
2410
frrafoRRad § & o1 |1 Tora gafera & ?
(1) Had — drgfe
(2) BIRBIfATE — wIToHT f3reed!

(3) USTTgH — AU RIS S

(4) ATP — fdercIss oo

P11 1 "wfT”

(1) Th & el A uRIg 2 |

(2) 5 fohv B & 1 3 a1 freeh o faaR B B |
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CASH AWARDS 22400 ufafiral & fic gffgd [EaR...

& SCHOLARSHIPS 31@RA & Zonal Cash Prizes & fde CLC & yawI &t ifAarfar 71 8 safe
1.21 65 & Mega Cash Prizes 31R 31 6315 @t Scholarships & fe€ CLC Classroom Courses B W2l &1 31fAart 21

Zonal Cash Award & Special Reward*

ZRL Each Class

1 Cash Prize of 3000 + Memento + Certificate + Student Kit

2to3 Cash Prize of 2000 + Memento + Certificate + Student Kit

4tol0 Cash Prize of 1000 + Memento + Certificate + Student Kit B
11to 50 Memento + Certificate + Student Kit ;é
51t0100 Memento + Certificate E

‘RL

Rest Participants : Certificate

*Cash awards will be given after tax deduction as per Govt. Norms.
Your Zonal Rank will be mentioned in the marksheet along with your Common Rank List

1. Date & Venue for Zonal Tecno'24 Fest will be announced at the time of result declaration
2. CLC Reserves the Right for extension of Exam Zone.

Mega Cash Awards*

Class 7 Class 8 Class 9 Class 10 Class 1l Class 12

CRL Class 5 Class 6
1 75000 75000 75000 100000 100000 200000 75000 75000
2to5 35000 35000 35000 50000 50000 100000 35000 35000

6tol0 20000 20000 20000 35000 35000 50000 20000 20000
11to 20 10000 10000 10000 20000 20000 35000 10000 10000

21 to 100 5000 5000 5000 10000 10000 20000 5000 5000
101to0 150 3000 3000 3000 5000 5000 10000 3000 3000
151 to 200 NA NA NA 3000 3000 5000 NA NA
201 to 250 NA NA NA NA NA 3000 NA NA

*Cash awards will be given after tax deduction as per Govt. Norms. CRL = Common Rank List

Why Tecno... Why CLC ?
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ZONAL
REWARDS CRORE CRORE

PREMIUM TUITION FEE MEGA CASH ZONAL CASH
PRIVILEGES SCHOLARSHIP PRIZES PRIZES




forefr - HEPR - JR&IT - ABerdl
SIKAR - JAIPUR . ALWAR

KOTA « BIKANER ¢« JODHPUR ¢« HISAR « DELHI

CLC NDA ACADEMY
Sikar
NDA | NAVY | AIRFORCE

CLC
INTERNATIONAL SCHOOL
Pre-Primary to Xli

KVM SCHOOL
Sikar & Alwar
Vlto Xl

NEET . JEE

OLYMPIADS - NDA - SCHOOLS

Sikar (H.0.) : &Here, Pandit Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan)
Ph.: 01572-255500, 258500, 94140-36555, 94140-37884



	Page 1
	Page 2
	Page 3
	Page 4
	Page 1
	Page 2
	Page 3
	Page 4

